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(@) Complete the truth tables and name the single logic gate that could replace each logic circuit
®

A Working space
B ) )

Single logic gate

)

A

B
>

Single logic gate

220 ||

/3017 |





image8.png
71 2210 w16_qp_12.pdf - Adobe Reader - - (| E

x

EARIN=NER RSN Tools | Fill&Sign = Comment

File_Edit View Window Help

Do | RBZRES ® @[]/

(b () Draw a logic circuit o represent the following logic statement

X=1if (A=1AND B=1) OR ((B=NOT1) AND C=1)
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Complete the truth table for the logic statement in part (D)(.
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5 Thiee swiches, A, B and , each send values of 0 or 11 alogie et Value X s ouputfom the.
logic Gicut
Swieha
Swiche Logo irut
SwiEhC.

(Output X has a value of 1 depending on he folowing condions:

‘Switch Asends value 1 AND Swich 3 sends vaue 0
or
Switch B sencs value 1 AND Switch G sends value 0

@ Draw a ogi ircu o fepresent the conditons above.
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(© A mictoprocessor reguiarly samples the ouput, X. Each sample value is sored n an 8.bit
tegistr as Sown below. One b f tis regite s fesenved as a paty L.

Five consecutive output values of 1 indicate a faut conditon.
dentiy whichofte followng regsters shows  fault conditon
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A computer-controlled machine produces plastic sheets. The thickness of each sheet must be
within a certain tolerance. The sheets are kept below 50 °C as they move over rollers at 10 metres
per second.

Three parameters need to be monitored all the time.

value
thickness of sheet in tolerance
sheet thickness
0 thickness of sheet out of tolerance

roller speed = 10 metres/second
roller speed
0 | roller speed <> 10 metres/second
temperature < 50°C
temperature
0 | temperature >= 50°C

An alarm, X, will sound if:

thickness is in tolerance AND (roller speed <> 10 metres/second OR temperature >= 50°C)
OR
roller speed = 10 metres/second AND temperature >= 50°C

(a) Draw a logic circuit to represent the above monitoring system.
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OR
roller speed = 10 metres/second AND temperature >= 50°C

(a) Draw a logic circuit to represent the above monitoring system.
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(b) Complete the truth table for the monitoring system.
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6  Secure socket layer (SSL) is used in the security of information on Internet websites.

(a) State how it is possible for a user to know that a website is secure by looking at the web
address.

, SI5AM
1/3/2017





image4.png
Comment

N | , 1212PM P
aEch, .68 @iz || S 22





image5.png
Comment

(8) Drawalogicciteuit cerrsponding f the folowing logi sttomen:

X=11f((Als 10RBIs 1) AND (Als1 ANDBIs 1)) OR (Cls NOT1)
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(€) -grawthe folowing logi ciruit using NAND gates only.
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